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(/ Answer All questions
- Mr.Titan is chatting with his friend Mr. Rado over the Internet. Use your networking skill and [10]
specily how the messages [rom Titan reach Rado. Discuss the entire process undergoes through
/Aiﬂbrcnl layers before it reaches Rado over Internet with neat sketch.
Consider two hosts A and B are connected by a single link of rate “R” bps. Suppose that the two [10]
hosts are separated by ‘m” meters, and the propagation speed aleng the link is *S™ meters/sec.
Host A is 1o send a packet of size L bits to Host B.
Ignoring processing and queuing delay. obtain an expression for the end-to-end delay. (2
marks) ‘
Suppose S=2.5*10"8 meters/sec, L=120 bits. and R=56kbps. Find the distance ‘m’ so that .
the fropagation delay equals transmission delay (4 marks)
(%{In the end-to-end delay, Which of the above mentioned delays are constant and which are

riable? Justify. (4 marks)
/:)mpare and contrast the features of datagram based packet switching and virtual circuit based [10]
pagket switching in terms of the following factors.
jk Connection setup
‘b./ Routing
Effect of Route failure
QOS
~ Congestion control
% Consnder a scenario while using Goback-N ARQ with Sy =50, S, =52 and Window size=7. [Sy  [10]
mp'esents the sequence number of First outstanding frame and S, represents the sequence \
nnmber ofnext frames (o | sent out]. Find out the new value of S; and S, when cach of the
! plain them individually with neat diagram.
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and Window size 7.
mber 50 from the receiver.
ess network for a smart city project.
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connectivity and interoperghfity between a wide “ange ol devices and networks, while also
addressing ¥ \""I'U\ posed by emerging tec hnologies such as SGuToT. and Al'in a smart

city environment”’
. o y i 10
. Assume that you are assigned the role of Network Adminisirator in XYZ Company. You need to [0}
52.20.24.0 2416 5 departments namely Operations

assign a hl(u‘l\' of :l(l\ll‘\‘\\\_\ starting \\'llll 1
28 users. Quality Assurance 12 users.

with 120 users. Finance with 50 users. Technical Support

Sales with & users. Consider two routers R1 and R2 with tour intertaces. R1
2 is connected with Quality

is connected with

the departments Operations, Finance and Technical Support. R
Assurance and Sales department. R1 and R2 are connected direetly. Design the network and
show the forwarding table of R1, R2 with network addresses and inter lace 1dentiliers.

2000 bytes (payload+header) artives at router R1.R1 has to
as 500

Assume that an IP datagram of size (10]
ctwork with Maximum Transfer Unit (M 1)

forward this 1P datagram to a host X i an
(h number of fragments created during packe!

bytes. Hlustrate the process of fragmentation wi
transmission, HLEN. Total length, Do not Fragment, More Fragment, Fragmentation offset
fclds for both original datagram and fragment.

 Consider the following network and construct routing table from I
in detail with diagrams.

to all other nodes using  [10]

Distance vector routing. Show the intermediate steps

1

o6 £ TCP sender has the value of congestion window to be 5000 and the receive window as 7000.  [10]
The host transmitted 4000 bytes cver the network which has not yet been acknowledged. How

~ mpay more bytes can be sent”? Explain in detail. 5 marks] P

~ f Assume that node A establishes TCP connection with node B with initial sequence number as

B responds with initial sequence number of 1400. Show the three TCI’ segments

| an email message to B. This will involve four entities: A's mail
1 and nding). A's outgoing mail server, B's incoming mail server,
d viewing). Explain the communication that happens
diagram and also discuss the usage of various
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